4 3 2 1
THS INFORMATION DISCLOSED HEREW WAS ORIGINATED BY AND IS THE PROPERTY REVISIONS
OF ALGA MICROWAVE AND EXCEPT FOR USES EXPRESSLY GRANTED TO A SECOND
PARTY, ALGA M CROWAVE RESERVES ALL PATENT, PROPRIETARY, DESIGN, USE, REV# ECR. DATE | APPROVED
SALE, MANUFACTURING AND REPRODUCTION RIGHTS THERETO. A Initl Release MAY 2,206 | MB.
TOARY
THIS DOES HOT APPLY TO AIY VERDOR PARTS. 5 P wLar.z8 | e

N-TYPE

MS3102R20-29

ITEM

CEND O s LN S

MOUNTING KIT
PIN  QTY  DESCRIPTION
7500026 2 MOUNTING BRACKET
6090028 2 UBOLT @5/16-18 UNC SQUARE
6090031 4 @5/16-18 UNC HEX NUT
6090032 4 @5/16 FLAT WASHER
6090033 4 25/16 LOCK WASHER
6090007 4 HEX BOLT #12-24-UNC 1" LONG SS
6090008 8 #12 FLAT WASHER
6090009 8 #12 LOCK WASHER
6090010 4 HEX NUT #12-24 UNC

ANTENNA BOOM
1.75 SQUARE

e \’.l‘
r

MS3102R16-10P
WR 75 (DES 8)
GROOVED
10.75 in [273.1 mm]
10.00 in [254.0 mm]
:m N [ R |
&
A L] S5 P A LI =
L T p. 1T T T N ! T £
AN M&cC R i i M s
@0 (© @) REF_IN € B
5 (S ==
ol 3 1 < ©
% ©) () F ® m m 2 RF oUT
£ g
. T G e
ES s
= 3 g a N
g
g A
- ® ® f £ ® ®
8
| 0.33n (8.4 mm] & 1.040in [26.42 mm] —| —
#6-32 UNC
THRU (4X)
——| 2.650 in [67.31 mm] |=— 11.50 in [292.1 mm]
— |=—0.90in [22.9 1240in [315.0 MM —— UNLESS OTHERWISE SPECIFIED
—-| 250in [63.6 mm] [~ niezamm 15.48 in [303.3 mm] REF DIMENSIONS ARE IN INCHES >_IO> —/\_ _ O mo/>\><m
OIS e bEGREES 2109, St-Regis; Dollard Des Ormeaux; QC HIB 2M9; CANADA
S o ot DEoRE Tel. 514-683-6113; FAX 514-683-3312; www.alga.ca
XXX+.002 XXXXX+.0005 TITLE
SEE SPECIFICATION TS-ALTX-141446-70-02. DO NOT SCALE DRAWING
o e 1 40W KU-BAND ODU TRANSMITTER
SPECIFICATION IS SUBJECT TO CHANGE WITHOUT NOTICE ’
CHECKED Ay MAY 3, 2006 OUTLINE DRAWING
ENGR M.B. MAY 2, 20086]
. < TSEDoN—meeroves SIZE | CAGECODE | DWG NO. REV
PART | NEXT [FINAL |  NEXT Al AY MAY 3, 2006 OD-ALTX-141446-70-02
Bior | ary ReQD APPLICATION B B
NO. | PER ASSY SCALE 0.25] | sHEET 10F 1




NI 43H ZHIND L

LR




